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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x7=7

PR v famaRe Bea fora -

(a) *‘The world is the totality of facts, not of

things.” Who is associated with the
statement?

“Rgere ©Y[ MR, 387 7= 1 @3 SRR
9GS Hivw TS @ 2
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(b)

(c)

20A/245

(2)

Among the following philosophers, who is
the author of the book, Principia Ethica?

fiare wrfAee fSe3© Principia Ethica
S 27 s @ 2

(i) Gilbert Ryle
IRERIKIET

(ii) G.E. Moofe
&2 |

(iii) Wittgenstein

T5esiReRIR

(iv) A.J. Ayer
9. (F. JEHE

( Choose the correct alternative )

(= Rescor af Sferear )

According to Russell, a fact is either true or
false. Is it true?

AR TS, 1 O T IS} T T | GZCOI
TOICe ?

( Continued )



(d)

(e)

(f)

20A/245

(3)

Who among the following was a member of
both Cambridge and Oxford philosopher?

e e oo @mem e
@S e TS Ty WEE T HifRe ?

(i) G.E.Moore
&2 R

(ii) Bertrand Russell

EINCEIWE

(iii) Ludwig Wittgenstein

EUERRETRECHED
( Choose the correct alternative )

( wm R Af Sfersan )

Who is the father of Logical positivism?

G OIS TP (P 2

Ryle refutes the dualism of
Plato/Descartes/Spinoza.

( Choose the correct alternative )

e (Aol /(TR0 /PorTEE Caedm e
FfafRe | ( Wz R I Sferear )
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(4)

(g) Analytic philosophers generally believed
that philosophical problems arise out of our
failure to use properly.

( Fill in the gap )

Remrm e saRacs s sRkifgE
@ wfAe IR T W afen Wil

3 Ffera 99 FR9T T4 28 |
(414 312 &9 41 )
2. Answer briefly the following questions : 2x4=8
ToTe il 2aeTes o ey fop

(a) Write two differences between atomic and
molecular proposition.

AT AP HRE B qwS A G
A%l o |

(b) What does Ryle mean by ‘Cartesian model’?
e FbeEE qoow” I & @R ?

(c) What is atomic fact according to Russell?
CHeR qe© RfeF o2 {2

(d) What do you mean by ‘Family
Resemblance’?

‘N ST e R g 2
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(S)

3. Answer any three of the following questions :
5x3=15

oo fi eppTd R e fofabr Teq fors -

(a) Explain briefly Wittgenstein’s view on
private language.

s ST e TCAERTE 7O, e
0 0

{b) Discuss briefly the kinds of facts recognized
by Russell in his logical atomism.

A TSI SEIAES O AR 1,
BYLF SACEATDAT F4T |

(c) What is ‘official doctrine’ according to
Ryle? Discuss.
RIEGER CRCICURS MO RERACCI LIS Sl
(d) State some examples put forward by

Wittgenstein to explain the concept of
language game.

SAR  (F  4ROOT A $EE PR
TRheiRIR WeReeR fegwm Seee e

<4l |
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(6)

(e) How did Moore distinguish between
sensation and the object of sensation?

LA HF RS T Awe [J @GR
oN2fzs v ffEet 2

(f) Is philosophy linguistic analysis? Discuss.
e S RCEET 20 7 SACEDA 47 |

4. Answer any three of the following questions :
10x3=30
et firal epprRd R e fofbr s for

(a) What do you mean by logical atomism?
Explain and examine Russell’s view.
SR HRNER e & @2 9% oS ACoe
TS T S <R |

(b) Who are the principal exponents of analytic
movement? Bring out the salient features of
the analytic trend in western philosophy.

ReEm Seead 449 @Sl @ @ 2
AP e RemeRi 4RI CARBIEE e |

(c) How does Moore attack the proposition
‘Esse est percipi’? Does he thereby refute
idealism?

TE @A GG AR oG e
0 ? TR A (96 ORRW 447 FReeiee 2
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(7))

(d) What is Cartesian dualism? Give a critical
account of Ryle’s refutation of Cartesian
dualism.

JICORIM (7eqm I @0 ? (2R IICORA
e Y9 9w <% fomgse  wmm
HISRCGA |

(e) ‘“‘A proposition is a picture of reality.”
Explain after Wittgenstein.

“qB1 I/ A TN B 1”7 TreABRAT To
A 40

(f) Explain and examine the language game
theory of Wittgenstein.

T0RABRTE SER (I TSIl RIS
1 90 |

* % ok
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